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11. In a time of ¢ seconds, a particle moves a distance of s
meters from its starting point, where s = sin(2z).

(a) Find the average velocity between t = 1 and ¢ =
1 + A if:

(1) “A=0.1, @) ~A=00L G h=10.00I

(b) Use your answers to part (a) to estimate the instan-
taneous velocity of the particle at time ¢ = 1.



égg%asiwt Homework *

| 2,3,4,S U138, 415,16,23,3)




+
Y )= a2
© (/@)
i
0 (/)
e
® a=-177
® b--08
® ,_ 1)@

m = 118%9

QY y=nlx—a)+f(a)

flx) =2

(asf(a))
Fne
(b.s (b))

Ve

m- (x—a)+f(a)

1(0)f(a)
b-a

+

& L
QO ()= -axi2
Q@ (a/(a)

v

() a=-182
@ m=r(a)

m = 5.991875

QY y=mx-a)+f(a)

1450-Slides-2-02-¢

(af(a))

 Label £

a=0

2 .

o)

m=f"(a)
m = 060314718056

y=m(x—a)+f(a)

o

7(x)

(af"(a))

Label

1450-Slides-2-02-ex-1

S (x) =sin(x)
(a/(a))
™ Label F

a=0

ofs 2

10 0 @+

m=rla)

m =1

y=m(x—a)+f(a)

~

1(x)

(af"(a))

 Label F

(PN

(0,0)

(0,1)

7

05




Sechon 2 - The devivatve a a va"

Avevo?e nte of cham¢e (Ve/oalu) mer a
Dpositon B> ~Ra) © €

A +we b-q
A CM” m
Avev oge PoL over o smmll tme peried A=q
his o smell ¥ ;6

Aposr)ﬁdv\ -F(a-f—l«} -£) _ L(le
A "'I\MQ [04"1'\ ~q

Ha
de‘"awous Po(f
Jion [ 095 RoC £ \ _/ g ~C(a+h\ a)
e ey b F







ZEAI&.”V‘?‘LNPZZD'Ff'.P&\ai'ﬁﬁX'.:fqﬁ o
o ~[inshorborens RC of f6) aF x=q]
=¥y Cfprime of 0
-Qlﬂh)--%)










-P'[ ad 20 méavs "H!Q -D'.mc"v*an Is Mcmxng
\;70"”9 o' ot e x-uke q

filad<co = Aecweagm\c] at Y=g

tlay=0 > guphis fob of x=q

e —

——

Ex: Lot £&) =sm6e).
T £ '[W ) po;;-l:w " neycr/zve, (Y C)?
=0
_Q( +\ ‘P[‘ﬂ'>
LN £(10) 15 Aegative

|
o Mo - T




